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Math 101-162-Quiz #3 

Name:                                                                   ID     Serial:   

Q1: Find the slope of the tangent line to the curve  𝑦 = √2𝑥34
+ 𝑒2𝑥 at 𝑥 = 2  

 

 

𝑚 = 𝑦′
𝑥=2

=
1

4
(2𝑥3)−

3
4(6𝑥2) + 𝑒2 =

1

4
(2(2)3)−

3
4(24) + 𝑒2 =

24

32
+ 𝑒2 =

3

4
+ 𝑒2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Q2: If  𝑔(𝑥) =
𝑥2

𝑓(√𝑥)
 and 𝑓(2) = 1, 𝑓′(2) = −1, find  𝑔′(4) 

 

𝑔′(𝑥) =

𝑓(√𝑥)2𝑥 − 𝑥2𝑓′(√𝑥)
1

2√𝑥

(𝑓(√𝑥))
2  

𝑔′(4) =

𝑓(√4)2(4) − 42𝑓′(√4)
1

2√4

(𝑓(√4))
2  

=
(1)2(4) + 42 1

2(2)

(1)2
 

=
8 + 4

1
= 11 
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Q3: Find the derivative of  𝑦 = 𝜋𝑥𝑥𝜋 

 

 

𝑦′ = 𝜋𝑥𝜋𝑥𝜋−1 + 𝑥𝜋𝜋𝑥 ln 𝜋 = 𝜋𝑥+1𝑥𝜋−1 + 𝑥𝜋𝜋𝑥 ln 𝜋 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Q4: Find lim
𝑥→

𝜋

2

tan(cos(𝑥))

cos(𝑥)
 

 

 

Solution  

Let 𝑢 = cos(𝑥)    𝑎𝑠   𝑥 →
𝜋

2
,   𝑢 → 0 

lim
𝑥→

𝜋
2

tan(cos(𝑥))

cos(𝑥)
 

= lim
𝑢→0

tan(𝑢)

𝑢
 

= lim
𝑢→0

sin(𝑢)

𝑢 cos(𝑢)
 

= lim
𝑢→0

sin(𝑢)

𝑢 cos(𝑢)
lim
𝑢→0

1

cos(𝑢)
 

= 1(1) = 1 
   


